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You will definitely enjoy what you've worked hard for—
you'll be happy; and things will go well for you

Proverbs 128:2



YEAR 7 - ART

Pop Art / Wayne Thiebaud

H ST.ANNE'S

R.C.VOLUNTARY ACADEMY

History / Information

people.

Wayne Thiebaud was an American artist known for his colourful paintings of everyday objects like
cakes, ice cream, and toys. His art style mixes realism with a playful, cartoon-like feel. Thiebaud
used bright colours, bold shadows, and thick brushstrokes to make his subjects look almost good
enough to eat. His work is often linked to Pop Art because he focused on common items from daily
life. However, he also showed great skill in capturing light, shape, and texture, making his simple
subjects look special and full of life. Thiebaud’s style is both fun and thoughtful, appealing to many

Key Words

1. Pop Art — An art movement that emerged
in the 1950s, characterised by themes and
techniques drawn from popular mass
culture. Thiebaud is often associated with
this movement due to his subject matter
and bold colours.

2. Still Life — A genre of art that depicts
inanimate objects. Thiebaud became
famous for his still-life paintings of cakes,
pies, and sweets.

3. Impasto — A painting technique where
paint is laid on thickly, creating a textured
surface. Thiebaud frequently used this to
give his work a sculptural, almost edible
quality.

4. Vibrant Colour — Thiebaud'’s use of
bright, often exaggerated colours helped
bring a playful, eye-catching quality to his
work.

5. Repetition — The repeated depiction of
objects (like rows of gumballs or cakes) is
a hallmark of Thiebaud’s work, adding
rhythm and visual interest.

Wayne Thiebaud - Artwork

Wayne Thiebaud Characteristics

1. Bold Colour Palette — Thiebaud used strong, vivid
colours to make everyday objects like cakes and
sweets visually striking and joyful.

2. Heavy Outlines — Objects in his paintings are
often outlined with dark or coloured lines, giving
them a graphic, almost cartoon-like quality.

3. Exaggerated Shadows — He painted long,
dramatic shadows that add depth and contrast,
making simple objects appear more sculptural and
stylised.

4. Textured Surfaces (Impasto) — Thiebaud applied
thick layers of paint, especially in frosting or food
items, to create a tactile, almost edible texture.

5. Repetition of Forms — He frequently painted
multiple versions of the same object (e.g. rows of
pies or lipsticks), creating rhythm and pattern.

6. Simplified Forms — His work features clean,
simple shapes that strip objects down to their
essential forms, enhancing clarity and impact.

7. Playful Perspective — Thiebaud sometimes used
distorted or elevated viewpoints, especially in his
later cityscape paintings, to create visual interest.

8. Focus on Everyday Objects — He celebrated
ordinary, often overlooked items (like pastries,
gumball machines, or deli counters), turning them
into art with care and charm.
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Year 7 —The Terrible Fate of Humpty Dumpty

Keywords Plot Overview

. Cutting forward or back in time in a plot or to a different

Crosscutting | ..o The play opens with the fatal
. One stage that cuts between two different scenes and tr‘agedy — Terry is forced to
Split stage locations climb a pylon by a cruel gang of
- — bullies. He is electrocuted. The

Positioning characters in different levels to show the . i
Status N W — gang cover up their part in his
Ia;u tioning ch B - l ; —— death. The play CROSSCUTS
——— o‘smonlngc arac-terscose or far aparF tos.owt eir ek in Bime to Fevesl to the
alliances or enemies on stage and relationships. audience the weeks before —
Stage The words given by the playwright in a script you don’t act revealing  the  systematic
directions out- to do with how the play should be performed. bullying and struggles of Terry
O U;mg acting skri]lls to show how you feel about the other The play ends as its starts with
characters or the scene action. Terry’s death. Leaving us in the
Stepping out of the scene in role to confide in the audience | j dience to decide whose

Thought track | about your inner thoughts while the other cast members it was i)
freeze. '

Pete
The joker in the

Terry
Victim of bullying — new
to school —doesn’t

Kathy and Kay
The ‘mean girls’ of the

Sammy
Terry’s only friend and the

Mr Dumpton
He has served time in jail,

stand up for himself.
Father out of work and

gang and makes
distasteful jokes
even after the

group. They tease Terry
and bully him cruelly.
Kathy talks down to the

only character to try and
stand up for Terry. Sammy
is full of guilt for not doing

unemployed and
potentially depressed. Is
angry at Terry for truancy

work’.

Gang leader, intelligent,
has the highest status in
the gang and makes
cover story for the
accident. Uses the gang
members to ‘do his dirty

Stubbs uses
Jimmy to threaten
Sammy and Terry

with violence.
Jimmy is under
Stubbs’ power.

The girls hang around
with the gang, but they
aren’t strong enough to

stand up to Stubbs, so
they go along with the
bullying as bystanders,
making them just as at

fault

An eyewitness to the
accident who proves to be
a vain and self-serving
woman- interested
more in her moment of
fame than the tragedy. Can
be played with comic relief.

we find out he has been accident. other gang members. more to avoid the tragedy. but does get truth about
in prison. Mum is They try to convince Terry bullying out of his son.
breadwinner to stand up to Stubbs
Stubbs Jimmy Janet and Tracy Mrs Vickers Leslie Dumpton

She is an annoying
younger sibling of Terry
who seems to enjoy
teasing him and even
torments him about his
cruel nickname ‘Humpty
Dumpty’ at home.

The play the play was set in the 1980s initially. This means there was no CCTV — (how does this

affect the plot?

There were adverts on television warning the public of the dangers of being near pylons.
The play was loosely based on a true accident.
If set in present day — how may life have been different For Terry? Positive and negatives?

' -l
Anti-Bullying Alliance
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RC.VOLUNTARY ACADEMY

H ST.ANNE'S

Hydration — The process of
replacing water in the
body.

Eatwell guide -A healthy
eating model showing the

types and proportions of
foods needed in the diet.

Hazard — A danger or a
risk.

Enzymic browning - the
reaction that takes place in
some foods (apples) when
oxygen is present causing
the food to turn brown.

Chec the iabel on

packaged foorts

Choose unsaturated ois
and use in smafl amounts

Modified — adapted or

changed to improve.

Cross Contamination- The
transfer of bacteria from
one food to another, from
humans, animals’ other
food or equipment.

Heat Transfer — The way
heat moves from one area
to another through
conduction, convection
and radiation.

Cooking kills bacteria

Food needs to be heatad till
steaming hot with the core
temperature reaching

- 60 degrees Celsius
for 45 minutes

- €5 degrees Celsius
for 10 mins

L4 70 degrees Celsius
for 2 minutes

- 75 degrees Celsius
for 30 seconds

L4 80 degrees Celsius

for 6 seconds

CLEANING CHILLING
Cleaning kills bacteria Chilling prevents microbial
- Wash hands before, growth.
during and after food i d Cool food to below
preparation S degrees Celsius
- Wash all worktops, as quickly as
utensils, chopping possible and defrost
boards and food in the fridge
equipment - Fridge =- C degrees —
L4 Rinse unwashed S5 degrees
salad, fruit and - Freezer — 15 degrees
vegetables or belows
COOKING CROSS CONTAMINATION

Bacteria are transferred from one
object to another

- Keep ravw and cooked
food separate
L4 Never was raw meat
i d Keep raw meat and

shellfish on the bottom
shelf of the fridge

QR CODE - Healthy
Eating — modifications
video

[3(E

QR CODE - Health and
Safety / cross
contamination

QR CODE: Methods of Heat transfer video/website

WHAT DO YOU THINK?
Why is Food hygiene and safety important in Food Technology? What can poor standards lead to?

What elements make up a healthy diet? Why is this important?

What are the different methods of heat transfer? Can you identify which ones you have used in food
technology?
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C.VOLUNTARY ACADEMY

History — Year 7

How did Religion cause tension in the Middle Ages?

Timeline

Henry |l becomes King
1154

==
i B

-

Thomas Becket is murdered

29 December 1170

~\

Date of First Crusade
1096

E—
Bk

Date of Second Crusade

1147-1150

L

Date of Third Crusade
1189-1192

J

Key Terms:

Episcopal - means the governing order of
Bishops/clergy in the Church hierarchical structure.
Doom Paintings —

State -

Crusades — A series of religious wars between
Christians and Muslims started to secure control of
holy sites they both consider sacred

Papal Bulle —an official document signed by the
Pope.

Jihad —a holy war waged by Muslims against those
who reject the Muslims’ teachings —it means a
struggle.

State -

Divine Right of Monarchs — Excommunication -

Officially exclude someone from the Church.
Outremer - The Crusader states- Four Catholic realms
in the Middle East that lasted from 1098-1291.
Pilgrimage — a journey of religious meaning.
Excommunication - Officially exclude someone from

The Story: In Medieval times the Church was very influential. It held the power to enable people to go to

Heaven. Peasants had to pay a tithe of 10% to the Church. The Church used Doom Paintings to show the
horrors of Hell and keep people in it’s control. The Church ran hospitals and provided charity in times of

need. It crowned the King as it was believed that Monarchs had ‘Divine Right’ at this time.

There were tensions however, between Crown and State and this was shown most visably in the case of
Thomas Beckett’s murder and the relationship between Becket and King Henry .

Jerusalem was the centre of the ‘Holy Land’ it was an important place of Pilgrimage for Christians,
Muslims and Jews. In 1071 the Seljuk Turks took over Jerusalem and began treating Christians badly. This
led to Pope Urban Il imploring European Christians to go on Crusades (Holy Wars) to rescue the
Christians in the Holy Land. The Pope promised people that if they went on Crusade their sins would be
The Key Individuals d go to Heaven.

i Thomas Becket (1118- Pope Urban [l (1035- King Richard [ Syl
Henry Il ( 1154-1189) 1170) 1099) (Lionheart) ( 1189-1199) Saladin (died 1193 )




Year / —Ilines and angles
Constructing, measuring and using
geometric notation

. I 1
: Letter and labelling ” Draw and measure line
| convention [| segments

I Keyword: Polygon: A 2D lI Keyword: Segment: each of
shape made with straight 1 I the parts into which

lines. The letterinthe middle %@M -
| - || SEEmRignS B

isthe angle The Ilne segment is

|
|
I
|
: . To- g otmeosentsthe :I T JB 3 9cm :
| sc T il | : N
| o BT el oo
| Angle Notation: three I % line |
letters ABC . e - segment |
| his is the angle at B = 1l (part of
| %ﬁe‘,ﬁlo}%atloﬁ: WO i the line) | Quarter Turn Half Turn  Three-quarter Full Turn
| Tetters EC || Make sure the start of theline is at 0; | 90° 180° Turn i
|_ The line thatjoinsEto C. 1L | L __ Clockwise il
————————————————————————————— Amti=Clotkwise— — — — — —
s, e e R R R ) S S 15 e e e s et . o s ————— e —— — — —————
| Classify angles :IMeasure angles to 180 :I Draw angles up to 180 :
: Keyword: Right-angled triangle: ?: Keyword: Protractor: equipment : Keyword: Acute: Angle |
triangle | used to Readfom | || Measuring between 0° and 90°.
I 0° on the I
| with aright angle, Rk || measure angl@é base line. I| S——— Make a mark at 35° with al
I \"\\ Acute Angles Arisiss I | e *° Remembar I | . pencil I
I \\\ "\ 0°<angle <90° 0° I I t6/1iE |, e ______Andjointo therangle I
I :l estimation. l| Pt 'pp."thr) I
/ Obtuse ) This is an | A 25 |
|/ ocange<isee  Rentangle |l > , “\ | obtuse 1 [+ o |
| notation | Y | fe Pt
| | | E— angle so || | /v_’.._‘ 2 |
S:Q Straight Li I / \ between96 I I
| \\ lex . _g__lgrg: Ks || Make°sgriel %0 ° | Make sure the crossisat Theangle |
I / \ 180°< angle <360 — s | Thebaseline cross is at the | the end ofthe line (where
I g | follows the line pointthe two | you want the angle) |
——————————————— 4 =gt — — — — — —fmesmERt——— A —_——_—————— — — — — — 1
_____________________ _II_—_—_____——____—___'—___—_'I

r
| Parallel and Perpendicular lines
| Keyword: Perpendicular: Lines that intersect at

Angles over 180° I
Keyword: Reflex angle: An angle between 180° and 360{

I
I
I
| . ° I 360°-sma]|erang|e— reﬂex _—
E right angle (90°.). 7 |: gl \: Measure the |
| parallel lines ’/_,/" Perpendicular lines -/ I | Useyour knowledge of \_// ~ - smaller angle |
| Straight lines that never " A/-»/ Straight lines that meet at \_| straight lines180°and f"rstu(less than |
L~ 5 | , 180
| meet A 90 4 | | anglesaround a point 360 |
|(Have thesame gradient)”  _ _ _ _ _ _ _ _ _ _ _ _ _ | d
______________________________________________ |
: Properties of Quadrilaterals :I Draw Pie Charts I: SAS, SSS, ASA constructions I
| Keyword: Quadrilateral: A four || Keyword: Sector: part of a CIFC|‘%| Keyword: Compass: equipment |
| sided polygon I made by two radii touching the|| used to :
I m“ﬂlmtam I ‘ Y 0" t Oy at lamster
| Square : Opposite siesare | (EEte || & ] ] QJeaxmgera%gaem N
£ + Allsides equalsizem parallel 1 / e ll 2 I
1 Al angles 90° Opposite angles 2 . 2 N I
| o ofite b= are equal | 32 out of 60 people had 5 \ || Side, Angle, Slde |
I psr’;”el Co-interior angles | \:og %) |: RS |
— . ) Side, Side, Side
[ | Rectangle ) , One pair of parallel] This fraction of the 360 | e I
|| All angles S0 ¢ lines I degrees represents dogs (e 3 protractor to I —— |
| } Opposite sidesare Kite “ B 05c5 168 desvi || ....... . |
C0 parallel - i o
| <" % Noparallel lines I‘-;%:::::::Trgls—_lg—z;::i'— ____________________________ q'l
| Rhﬂmb_us. . '/ Equallengths on 1 Polygons _ |
I %} All sides equalsize 7 top sides || Ifall the sides and
: 5 - Pentagon 8 - Octagon |
R Opposite angles Equal lengths on l| 3 -Triangle - Hexagon 9 - Nonagon angles are the same, |
\/ are equal i bottom sides 4 - Quadrilateral & & itisa regular
| | 7 - Heptagon 10 -Decagon |

One palrof e_q_ual —_— pu:ygun



Year / —lines and angles

| Sum of angles at a point

: Keyword: Sum: total, add all the interior angles

Geometric reasoning

l Sum of angles on a straight line

lKeyword Adjacent: next to or

| together The sum of angles around a point I|adJom|ng something else.

I is 360° | Adjacent angles that share a common point on a line
I 360" Find angle BOE fnigls motation — |I add up to 180° W

: 90° |l v 720 N 420 :

| 90° +33° +92° = C |: [N

| 366° - 205° R |

| BOE =155° 7 Y

: /. 67° X oz I: X

| 360" = 67"\ ¥ Angle notation ‘ | 72°+42°=114°

| =293 —fignd e \ |= Find angle XWY 180° - 114° = 66°

e missinga.ng].e__________ll_ ____________________

e — — — — — — — — — — — — —

: Vertically opposite angles
| Keyword: Vertically Opposite:
| angles formed when two or more

| straight lines cross at a point
Angle INM is

J ’ vertically

) K opposite to
N € —— angleknL

I

|

|

|

|

l L

{ INM = KNL

| Vertically op posite angles are
l —thesame

: Other angle

| rules still apply.

[ Look for

| straightline

| sumsand

I an.glt-es arounda Form equations
: with

| information
| from diagrams:
| 2x-12 =42
| 2x =54

| x=27°
I

________________ L — — — — _ _(outline) of the shape

N \/

notation.

This indicates an

isosceles triangle
. 180 - 43 =137

Sum of interior angles in a triangle =

I

I

|

I

I

I - The two base angles
I [ <7\will be the same size
: Look at triangle

|

|

I

| =

180
A triangle
can only Have a go!
have ONE Tearing the corners from
right angle triangles forms a straight line
which is therefore 180°

I| Sum of angles in quadrilaterals — Keyword: Convex

|| Quadrilateral: a four-sided polygon where every interior angle is

I: less than 180°

: I § e / \

IISum of angles in triangles — Keyword: Isosceles triangle: a
trlangle with two angles the same size and two angles the same

Sum of interior anglesina

/N

Il [/ \'\ \

| Y }’ \

ll Convex Concave

|| Quadrilat  Quadrilat

I eral eral

(|ooeml

|: Interior angles are those that
:| . make up the perimeter

| 1.

| ~E e

1 , H interior angles is 180°
F EDF=__ 318090 4DF 1835

Split up the problem into chunks and explain your reasoning at each
D._ point using angle notation
- Angle DEF =51° because it is a vertically opposite angle D

129° +2=64.5°

uadrilateral = 3607
quadriateral = 369

Interior Angles

two triangles:
180° + 180° = 360°

A quadrilateral is made up of

iwo triangles=the sum of

interior anglesisthe sameas

Keep working out clear
@pg notes together

E
g. lljlriangle DEF is isosceles (triangle notation) .. EDF = EFD and the sum of



Year 7/ —reasoning with number
Developing number sense

7 s . i T e e sy s e e e S s e S s S 5 555
|Mental methods for addition/ subtraction || Mental methods for multiplication/ division |
|Keyword: Commutative: changing the order of |, Keyword: Associative: when you add or multipl |
Keyword: | ging |Reyword:
|the operations does not change the result I|you can do so regardless of how the numbers are :
| o
I Addition is Subtraction the order has to stay IIHQH fdtion is Partitioning can help |
. I CCa - b B 5 e "
utative ®0 the S e II—:: mdlti@iealiorx 6 + 4 x 6 :
I | ee o000 =144 |
| 6 + 33 + 6 *  Number lines help for || 5 _ T |
| addition and || x4 =4x2 DIVISI-OI"I.IS not |
| The order of addition subtraction || The order of ch%‘c-‘rﬁ?ﬁ'ﬁ% division can help |
| does not change the e Working in 10’s first I| multiplication 4000 = 25 |
result aids mental addition/ I| does not change “How many 25’s in 100” then how l
) |
L o —subtraction _ __ __ | T TheTesutT—_ _many chunksofthatin 40Q0._ _ _
[ Mental methods for decimals } | Mental methods for fractions -:
Keyword: Dividend: the number being divided IKeyword: Divisor: the number we
| Keyword: I
| 11 divi Use bar models where I
|divide by. )
IMultiplying by a decimal <1 will make the egx0l==+ || - 2 possible I
. I've spent of my money. | | | | [ | |
| opigictabuia feer small il ication 10 l - —_— ——
| > X003 e Methods for division 1.5 4 | e £21 £14 |
[T 12x3-36  ||10] + 10|+ 1000 | 240k iply by powers of 10 || Howmuch didtheyhaveto |
| | 12x03-036 ,[ + B ! begin with? |
| (12X 003=0036 )| 12x 003= 0036 until the divisor becomes a:d «  £15 N |
Methods for addition PO I
I = meo 25 '9130 I | | . | | ; | I ! ! What iSEOfEIS? I
| 2+2=4 || 3 i 3 I
y Q_=(),? 150 =5 =30 S 2
I 043: 0.74= 47 || 3 + 3 I
I [ |
L e e o e e — — — — — — — — — — — — — — e e e e e e e e e e e e e — — — — — — - |
I Using factors to simplify calculations — Keyword: Expression: a maths sentence with a minimum of two !
| - ) |
| numbers and at least one math operation (na eauals sjgn |
I Moxsxaxd [ L ] Multiplication is |
: |
: 30 x 16 [ 2x5x3x2x2x2x2 | ( 16 x 10x 3 | | commutative |
Factors can be multiplied in
R s o, A s s, i s S 5 SO R s R 558 s, o oy et e e e et et e e RIS (OO 065 MRS U d
| = ———-anyorder _ _ ___ _ _ _ -
Estimation Number facts | Algebraic facts
|

| Keyword: Significant figure —

Keyword: Quotient: the result

Keyword: Equation: a

: The number of digits that are of a division mathematical statement that
meaningful. two things are equal

| g

| Estimations are useful — especially when Use %

| using fractions and decimals to check if [ i T [ 2a+2b =10 ]Evervthingx 2

ur-sotation s pu»ibie.
Most estimations round to 1

signiticantrigure

Iy

Estimations are useful — especially when
using fractions and decimals to check if

For multiplication, each value

that is multiplied or divided by

powers of 10 needs to happen
to the result

| 0.1a+0.1b=05 |

/ Everything + 10

a+b=5 ]

I
I
I
I
I o : :
| Your sol ’ [ 620+ 12.4 =50
I 210 +899 <1200
I - )
| This is true because even if both For division you must consider The rdd 210 41
the impact of the divisor unknown e
I numbers were rounded up, they . ) . [ b+2= %tal ]
| would reach becoming smaller or bigger. qgan:uty atb+2=
Smaller — the answer will be LUk
: 300 +900. e changing
The correct estimation would ) ) g8 ) butthe
| (It is being shared into less .
| be variables

200 1+ QNN =110nN

I
I
I
I
I
I
I
I
I
I
I
O
I
I
I
I
I
|
I
I
I

parts) change



Year / —reasoning with number
Sets and probability

) B e R S S (e e ] ) S B S T T e e (et o i (e &
| Identify and represent sets Interpret and create Venn Il Intersection of sets

IKeyword. Set: collection of diagrams I Keyword: Intersection: the

Ithings Keyword: Element: each item I overlapping part of a Venn

The universal set has this symbol & —
this means EVERYTHING in the Venn
diagram is in this set

i lled anelementeers | diagiamdAND ?4)/&/‘ B

O O The two setshave nothing in | | intersection are in set
common I ANDSet B

The notation for thisis

square number and between 1 placed outside an ellipse but inside the box 1

multiple of 3 and a multiple

l I |
|
| I :
ly |
ly
I | |
| I I
|
I I |
| : ) _ | I No overlap 1 Jont |
| A set is a collection of things— Il Unilon of sets A - 1 ATTB |
ou write sets inside curl The two setsh
| Y L y | l O setsnave some Il & = {the numbers between 1and 15 |
brackets{} | elementsincommon— I . 3 _ ‘
| | | they are placed inthe™ | A = {MultiplesiBEIsBiveX Multiples of 3}
| & = {the numbers between 1and 50 | | intersection |= I
: ¢ includ | o :I dp = I
My sets can indude every || All of set Bisalsoin Set A | |
: number between 1and 50 | | so the ellipse fitsinside :l |
2 | the set.
| 4 ={Square | : [ :
: A =M4mPassh6 25, 36, : | H-Ie elementin A N Bis 15 |
49
| \ ) | I Around the outside of every Venn diagram will 1 In this example there is only I
|  Allthenumbersin set 4 are | | beabox.Ifan element is not partof any set itis [ one number that is both a I
l

- — ——and50 e I == of Shetweentamd it ——
' Union of sets — Keyword: Union: two ellipses || Sample space - for single events — Mutually |
nion of sets — Keyword: Union: two ellipses |! Sample space — for single events — Mutually I
|that join (OR U) |1 Exclusive: events that do not occur at the same |
| f & = {the numbers between 1 and 15 | |
| A = {Multiples BrckBiveIMultiples of 3) * A Samplespace |
| Elgments in thg ) 2 M_Egﬁple space for rolling a represents a possible |
Idb The elementsin AU B
I union cou ein SiX-SiCEd icesi OUtCOmefrOm an event
| setA ORset B 5 10 155”: o 1 . fliceds3, 4, 5, 6} *  They can be interpreted |
| The notation for this s There are 7 elements that are . in avariety of ways :
| either a multiple of 50R a -: A s.ample. spacg for this because they do n.o.t tell
If A : B multiple of 3 between 1 and 15 S = {Pink, 8bire) efeiow} you the probability :
| ‘0’ — This Venn shows the number of \(OU only need to write each |
| i L element once in a sample |
—_—_—————— e ———————— I e —sprcedisgram— — — — — — — — -
______________ o T T T T T T A e e e s e — ]
| probability of a single | : The probability scale — Keyword: ||Sum of probabilities — Keyword: I
| event - Keyword: I' Bias: a built-in error that makes all :| Fair: there is zero bias, and all |
| Probability: likelihood of an :I values wrong (unequal) by a I: outcomes have an equal Iikelihood:
| event happenmg II Certam Smednt, elg 2 weighteq I Probability is always a value I
| ! . Probability = number oftimes event | | 4;dg I 1 1 De[weenua:d + |
| ( total nuinkepefipossible outcorpbsmpOSSIbIe Even Certain || = = . |
I P(Blue) = 4€— Thereare 4 blue | | 00 0% chance lor100% ] 2= Tiie prsbility of gelfinga blue
| Y 10 Thereestor) | | 0.5,% or T ~The probabalitisaf NET getting a :
| Pmbat?”'ty _ ‘}ﬁors overall | | 50% > 1 =
I P”(Otat'°?) =2 || The more likely an event the furtherup T The sum of the |
| Pleven 5 || thepnrobability itwillbe in comparisonto | probabilities is 1 |
~
I Probability can be a fraction, decimal or | I another event 1 I
| percentage value [ | OQItQ/ I havea pro IOlty closerto 1) | | The table shows the probability of selecting a type I
| | | O l | | | | 1 Lhu"ﬁ';ﬁ"c Milk White I
| 4. =40. =040 =40% | | ol ! ' ' : 0 015 035 :
| 10 100 | Thereare2 L J _
| : | pinkand 2 There are 5possible : : P(white chocolate) =1 -0.15-0.35 |
| Probability is always a value || yelow outcomes 1 =05 I
I between O and T | | balls, so So Sintervals on this I |
b oLYEvhave _seale cachintenalvalue 4, o . ] |

the same



Year / —reasoning with number
Prime numbers and Proof

_______________ G R e S o B e e P B SR S S R S e s ey
. o
I Multiples lI Factors |: Prime numbers |
| Keyword: Multiples: found by Il Keyword: Factor: integers that || Keyword: Prime: an integel
| multiplying any number by I multiply together to get another :I with only 2 factors. |
| positive integers [l number l |
[ The “times table” of a I :l |
| given nu.mbe‘r ) [l @00 @00 Arrayscan helprepresent® @0 @0 00000 L. Integer I
|  All the numbers in this lists below are || ss000 10 % Lo 5l |l «  Only has 2 factors I
m 3t f3. 5x20r2x5 Factors of 10 . ;
: [ 15 ] [ e H 1,2,5 100 , )+ anditself The first prime I
Fact g The number itself I| number I
Thislist conti d Factors and . _
: ? ;o;;)nr:t:ﬁzs * I: exp 'ﬁ.. . isalways afactor || The only even prime I
Non example of a 2 colld kessny I S F A1 6, x,1, 6x, 2, 3, 3x | Learn or how-to quick number |
| value and as the ” q |
| 4.5 iEnddpleultiple variable is amultiple 6 X1 0R 6xx = I 737 5,7,11,713,717,719, 23,7
| of 3because it is 3x Tfi:e a"Sl‘t"felr W"f'3 |- [x [x] } A [x [x } :| 29 I
also be a multiple o x X 3x X2 I
1.5 i
S i |11 R EAEIET S L )
r—-——————_——_——_——_—_—_——_——_—————— "lI ———————————————————————— |
:Square and triangular numbers :I Common factors and HCF I
I Keyword: Sequence: A list of numbers or objects (! Keyword: HCF: highest common factor (biggest I
|in a special order || factor two or more numl T 7sa common factor of all J :
| | numbers
| Square numbers g Representations are useful to || :1:82:;: :;:trc;rsare TRC PSR G |
I 0 060 understand a square number n? || HCF — Highest common factor I
| o oo "'[1 16,2 J|
| o eve od »4, 9,16, 25,36, 49, 64 1 of18an Common factors
| Triadn ularrr]mmbers ‘ |I A (factors of both numbers)
| Représentations are useful —an extra counter is added | |
| to each new row Add two consecutive triangular | I

I @ numbers and get a square || ) 3‘/'336 16,18
I ® O number | '0' ',I‘ ’ ’ ) 6
I

I
»3, 5,10, 15,21, 25, 35, I 6 isthe biggest factor they,
I

|
|
|
1,2,306,9 1,2,3,6 |

1 7 ,!’]' 7 ’ ’ ’

(8] 12 9) 2 |
|
|
|

|Common multiples and LCM

| Keywords: LCM: lowest common multiple (the first

|
|
| +: . Common multiples are multl es tw orel
jtime the times table of tw@ QF iiare ndmBers thatch’

Product of prime factors
Keyword:: Product — The result of one or more
multiplications

Multiplicatio
n part-whole

LCM = The first time
36 their multiples

match
e

| LCM — Lowest common multiple

:[ LCM of9and 12 |

many cases

a conjecture

|

|

|

| models
9,18, 27,36, 45, I /
o g S im? 4 () (a0) (0) |
3 12 24 36 i 48
: 12, 24f 36, 48, 60 \ : |
|
; Comparing fractions ,npare : e /; e 1 e /6\ |
3 7 fractions using I
G- GE) b e Ao b
F::::::::@?E%::::::::::::” I
H — ® I \ J I
| Conjectures and counterexamples — Keyword: [ All three prime factor trees represent the same |
CenAecl;cure a statement m%terpel ahr% be true (based I|  decomposition |
I opsreasoning) but is not gegven. [ S _ |
| 124 ) PTs sequence iSA | | 30=2x3x5 Multiplication of prime |
’ The numbers in :he sef;uence | p : doubling it iS addingZ I fa CtorS

: \_/8fdoublageachtime. ) TR | : Using prime factors for :
| Apatternthat OnIy i | | predictions |
| is noticed for counterexample is I | eg60 30x2 2x3x5x2 |
: needed to disprove : : 150 30x5 2x3x5x5 Multiplication is commutai
1 | 1



Music

Key Words 4 CHORD TRICK
KNOWLEDGE ORGANISER
e Chord - more than one note played at the \_ -
same time T - .
e Primary chords — chords from a given key e -
that are major (I, IV and V) ' =
e Secondary chords — chords from a given key »
that are minor (ii, iii, vi) g 2 3 g4 1 8 A
e Major — chords or keys that sound happy ’ - S
e  Minor — chords or keys that sound sad br
e Chord sequence - multiple chords played in This double line Indicates the end of te P""“/
a sequence/pattern i 5 B K 4 &L B
e Harmony - the combination of notes being frr% >
played simultaneously =
o  Strum patterns —the pattern used to strum f © ~©
strings E(-E o0&
e Four Chord Trick -the most common chord (o G—
sequence in popular music made up of . )
chords I =1V —vi-V The number on the line tells you where you

need to press down on that string. Remember
to press down between the two meal bars

Headstock b — (frets) not on them. So if the number says 2
[ you would press down firmly on tnat string
— Nut— sy between the 1 and 20 metal bars (frets).
G £~ s
Fretboard — [ Meck ey (B
Lo ]
“\', \' ‘ This dot means B
LA« Vf ‘:Ci i ykhetl?en inr\:’u G 1
Sound Hole' ‘ £ 7 o1 . ’ i i i
IOl i z
Body — Strings /\\/_\L 8
: 32

T O S T

| ihew finges |




PE Knowledge Organiser- Athletics

Gs s Sprints
AR B s
When sprinting drive knees high, keep eyes close to the body and move them hip
lip. Look forwards with chest up and shoulders relaxed. When finishing dip

forwards slightly as you cross the line.

i & g Long Distance
(BZ/ (2 {
Remember to breathe in ‘rhr‘ough your nose and out through your mouth. Run in a
fashion, with shoulders relaxed, taking nice long strides to cover more

Build up distances to try and run continuously.

3 z L’:&{S Long Jump

Measure run up= :|u1 Wi aoninan |Uu7 on the board, run 7, 9 or 11 steps at a sprint.
Take off- plant foot on (but not over the board), eyes up, hips up and focus on driving
up info the air. Flight-stretch both legs forwards and reach towards your feet with
hands. Landing- aim to land feet together, and body forwards/sideways (not backwards).

High Jump

Run up-a curved run up up which brings ;/ou sideways to the mat. This should be a sprint.
Take of f- drive knee closest to the mat up high. Lift hips, lean back, and flick heels into
the air as you go over the bar. Landing- land on your back, lifting feet into the air to
avoid hitting the bar.

oy 4V Shot Putt
Sideways stance with wélg}:\:r c;;u back leg- toe, knee and chin all in alignment.
Shot held in fingers, not touching palm, and pushed into neck with elbow raised.
Transfer weight from back leg to front, twisting torso. Push shot up and out at a
45-degree angle.

A’ V‘ Discus
fxﬁ “A A A

Z

Sideways stance with welghflcnn¥he back leg, discuss held with very ends of
fingertips. Non discus hand outstretched at 45-degree angle. Swing discus
| (palm towards the ground) up to reach non discus hand several times. As discus
| reaches 45-degree angle straight back leg. After 3-4 wind up swings release
| the discus forwards off your index finger. SCAN ME




ﬂ ST.ANNE'S

RC.VOLUNTARY ACADEMY

PE Knowledge Organlser- Cricket

KEYWORDS

Bat- a flat, wooden piece of equipment
used by the batter to strike the ball and
attempt the score runs.

Wicket- consists of three stumps and
two bails. It is a target for the bowler
to hit and the batter must protect.
Knocking this of f means the batter is
out.

Bowler- the player delivering the ball
with the aim of trying to get the batter
out.

Run- the main way of scoring in cricket.
Runs are made by two batters running
between the wickets after hitting the
ball.

Over- a set of six legal deliveries bowled
by one bowler. After one over, a
different bowler takes over from the
opposite end of the pitch.

Rules of Play

Cricket is played between two teams each
made up of eleven players.
e Games comprise of at least one innings wh
ere each team will take turns in batting
and fielding. \
e The fielding team will try to get the
batsmen out by trying to hit the wicket
with the ball when bowling, catching a
shot from the batter, hitting the ‘
batsman's leg in front of the wicket or ‘
hitting the wicket before the batter gets ‘
' to the wicket.
e The batmen try to score as many runs as p 3
ossible before getting out by
e Each time you run one full length of the pi |
tch it equals 1 run. Hitting the ball to the |
boundary along the ground is 4 runs. Hitti
ng the ball over the boundary ‘
Widethesper , on the full equals 6 runs. The fielding tea |
m must get 10 batsmen out before they ca |
n change over and start batting. ‘
e Theaim of the game is fo score as many r |
uns as possible before the fielding team t ‘
akes 10 wickets. The team with the most r ‘
uns wins.

CLICKABLE GUIDE

o Place your thumb and index finger on the seam of the ball, on opposite sides of the
ball. Place your middle finger on the other edge of the seam near your index finger.

e Carry the call close o your chin. Coil your body then lean back, drop your elbow as
you plant your leading leg. Straighten your elbow and your arm then shift your
weight to the lead leg.

o Thrust your bowling arm forward and rotate your arm past your ear, snapping your
wrist to release the ball.

1. Stand side on the bowler, feet should width apart with knees slightly bent. Hold the bat
with both hands close together on the handle, maintaining a firm but relaxed grip.

2. As the bowler approaches, the bat should be close to the body. Move the front foot
towards the ball, keeping the back leg straight and foot planted.

3. Make sure your head and eyes are aligned with the ball throughout the swing. The bat
should be angled so the face is towards the ground. When swinging, keep the elbows bent
and locked. Follow through and strike the ball by swinging in a straight line.

© To be an effective wicket keeper, the sportsperson needs to master catching and sTumpmg
techniques (presenting their hands in a way which maximises catching, quick reaction time to the
batsman’'s movement), develop proper footwork and body positioning (crouched position, ready to
move quickly whilst maintaining stability behind the stumps), and practice clear and effective
communication with the bowler (allows for coordinating strategies and making necessary
~ adjustments).
Step One
Stand shoulder width apart, sideways to the target with the throwing arm taken back behind the
head at a 90-degree angle. Point the non-throwing arm at the target.
Step Two
Transfer weight from back foot to the front foot by rotating hips and torso towards target. Pull
throwing arm towards the target, leading with the elbow. Release the ball in front of head. Follow
~through with your throwing arm pointing toward the target.

Bowling

‘Wicket keepmg

Overarm throw

Breakdown
of Where would be Why would | want Why is spacing so
best to hit the ball to use different important to
Cricket to outwit my bowls when consider when

opponents? : bowling? fielding?

s SCAN ME




b+ @ ST.ANNE'S . .
O B PE Knowledge Organiser- Tennis

KEYWORDS -

Backhand- a stroke in which the ball is
struck on the opposite side of the body
to the racquet hand.

Drop shot- a gentle shot that just lands
over the net.

Forehand- a shot hit from the racket
arm side of the body.

A player or team has to win four points o win a
game. Any game starts at 0-0 and the zero point
in tennis is called love. The progression of points
occurs as follows:

First point - 15

Second point - 30

Third point - 40
. Fourth point - Game
| However, if both players win three points each in
a game (i.e score is 40-40), then it's called
a deuce.
After deuce, the player who wins the next point
has advantage. If the player/team who has
advantage wins the next point, then they win the
| game.
| However, if the opposing player wins the next
point after advantage, then the score moves back
to deuce. A player/team needs to win two
consecutive points after deuce to win a game. |

i

Serve- the shot that begins each point,
in which the server hits the ball after
tossing it into the air. The serve must
go diagonally across the court and
bounce in the serving box.

Rally- a long series of shots.

Grip- how to hold the racket in tennis
that is hit in a high arc, usually over the
opponent's head.

Serving " 1Face sideways at an angle to the baseline. Fully extend the elbow down so the racket is
pointing to the floor and fully extend the other elbow downwards and hold the ball in the
palm of your hand facing up.

2. Separate the arms, extending the right elbow backwards and left elbow upwards whilst
transferring body weight from front to back foot.

3.The left arm throws up the ball and arm stay straight with the ball slightly in front of you.
. 4 When the ball reaches the highest point, accelerate the racket head at the ball in a
__throwing action, strike the ball as the elbow is fully extended and aim the racket downwards.

Step One- stand on the balls of feet with the knees sllghﬂy bent whilst facmg s:deways with
shoulder and arm pointing towards opponent. The racket arm should be at a 45-degree angle
with the face of the racket at head height.

Step two- transfer body weight from back to front foot and rotate the body quickly to face
forwards. The racket head lowers and the forward swing travels from low to high, aiming to
hit the ball at its highest point.

Step three- contact ball around waist height, beginning to rotate the racket at impact then
follow through with the racket.

The weaker hand should be on the top of the racket handle whilst racket is at waist helgh’r
Hands and trunk should turn to the side, so the shoulder of right arm is pointing to the ball.
The right elbow should be fully extended whilst you transfer body weight from front to back
foot.

The body should rotate quickly facing forward, transferring weight from back to front foot
and the racket head should lower as accelerating forward. The swing should be low to high
aiming to hit the ball at its highest point.

Make contact with the ball at around waist height and begin rotating the racket at impact.
The racket should follow through to finish at the right shoulder.

Both hands start on the racket. Feet should be shoulder width apart with head forwards into
the court. The knees should be slightly bent so centre of gravity is lowered. When the
opponent hits the ball, go onto toes for extra spring in legs. Always return to the centre of
the court when striking the ball.

Breakdown

f e, Where would be Whyisit et ghRes dutioe
0 best to hit the important to go a serve if the ball hits

back to the middle ‘ the net but goes over,

Tennis Ty ball to outwit my et i
of the court when anaing in ine service

opponents? iS5 e box?
Rules SCAN ME hitting the ball? !
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PE Knowledge Organiser- Rounders

l SEVORES ‘ Rules of Play
Underarm- technique of throw when you 1. You must start in the batting box
are bowling to the batter. and not step out of it.
Batting-the player trying to score 2. You only get 1 ball bowled at you,
rc?un.clers for their team. The?l do this by after which you must run
hitting a bow/ed ball and'r'unnmg around whether you hit it or not.
the bases without stopping. . .

- 3. You must keep in contact with a

Overarm Short- A throw that is used " h decided

between the bases. This is when the o once'you BVe Beclda T

fielding team are trying to get a player . et

out by stumping the base. 4. A no ball means you get another

Overarm Long- A throw that is from the attempt at hitting the ball.

field to someone at a post or the bowler. 5. You must run around the outside

It is travelling a further distance than of the post to the last post

overarm short. where you must hit the stump to

Long Barrier- a technique to control a get all the way round.

rounders ball that is travelling along the 6. If you get to the second post you
 graes. score half, if you get all the way

No Ball- the ball has been bowled above

) past the fourth post, you get a

the batter’s head, below the knee, wrong £ull i

side of the body, too wide or too close to Hil rounder.
the body.

BGTTiﬂg e Stand sideways on o the bowlder with the bat up and behind you. The arm will be on
- 2 a 90-degree angle.
% e Step inwith the opposite leg.
e Swing through with the hips and follow through with the bat to contact the ball.
*  Move body and arm position to hit the ball in a different direction but always in
front of you.
e DO NOT DROP THE BAT, unless the umpire shouts no ball you must run.

Underar;m 7ch-;1dutraa”A in dominant hand;Tepforw;;d with the obp;s;';r_e Iég, swing arm and release the ball

| before shoulder height. The ball must reach the batter between their knee and head. Aim for

Throw 4, :

.~ | the backstop's hands.
: Types of bowls- straight bowl, donkey drop, spin bowl

| STEP ONE:
. Approach the ball at speed and as you get into line with the ball, twist your upper body,
leading with the shoulder furthest from the ball. 1
| STEP TWO:
Bend both knees, so that the knee of the leg nearest to the ball touches the group, but it is
also next to the back of the heel of the other leg.
| STEP THREE: ,
. With fingers down and head forward, pick up the ball and then stand back up ready to deliver
" an overarm throw. :

Long Barrier

o You can get someone out by catching their hit or by stumping them at a post after
catching the ball.

o Get into position under the ball, hands in a cup shape. Bring the ball closer to the
body to ensure it is not dropped.

Breakdown
Where would be Why would | want Do | have to run on
e best to hit the ball to use different the inside of outside
Rounders to outwit my bowls when of the posts when

opponents? bowling? batting?

RuiEs SCAN ME
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ﬁ ST.ANNE'S

RC.VOLUNTARY ACACEMY

Threading a needle-Preparing your
needle for sewing.

Eye of the needle-The hole which you
thread your thread through.

Sewing-The process of stitching 2
pieces of fabric together by hand.

Running stitch/ Blanket stitch-2
different stitches used for hand
sewing

Sewing on the spot-The techniques
used to stop your work from
unravelling.

Client brief-A list if instructions from
the client to the designer.

Target audience-The group of people
you want to buy your product.

Year 7 Knowledge
Organiser-Textiles.

Blanket stitch

Design and create a hand puppet
using felt, adding additional
features such as hair, clothes etc.

You will use the running stitch or
blanket stitch to hand sew your
work.

The puppet must be aimed at a
particular target audience.

WHAT DO YOU THINK?

Why is it important to interpret a client brief properly?

Why would a designer NOT target a product to “anyone/everyone.”

Why might you use a blanket stitch over a blanket stitch?

What are the steps to stop our work from unravelling?

How to do the blanket stitch

How to do the running stitch




